
T
A

P
-A

-F
L

O
W

™

K
IT

C
H

E
N

 /
B

A
T

H
R

O
O

M

P
E

D
A

L

S
T

A
IN

L
E

S
S

 S
T

E
E

L
 F

IN
IS

H

P
la

c
e
n
ti
a
, 

C
a
lif

o
rn

ia

M
o

d
e

l:

P
a

rt
 N

o
. 

A
G

2
5
0
-2

0
3

D
o

c
. 

#
 4

0
0
-0

7
8
9
-0

0
1

5
0
0
 J

e
ff

e
rs

o
n
 S

tr
e
e
t,

 P
la

c
e
n
ti
a
, 

C
a
lif

o
rn

ia
 9

2
8
7
0
 U

S
A

 •
 9

4
9
-9

5
5
-3

9
2
8
 •

 E
m

a
il:

 o
rd

e
rs

@
a
ir
g
a
p
.c

o
m

 

C
o

p
yr

ig
h

t 
2

0
1

8
 A

IR
 G

A
P

 I
N

T
E

R
N

A
T

IO
N

A
L

 

A
G

2
5
0
-2

0
3

D
u

ri
n

g
 i
n

s
ta

lla
ti
o

n
, 
a

v
o

id
 b

e
n

d
in

g
 v

a
lv

e
 a

c
tu

a
ti
n

g
. 
A

n
y
 b

e
n

d
in

g
 n

e
e

d
s
 t
o

 b
e

s
m

o
o

th
.

C
A

U
T

IO
N

:

P
re

s
s
 t
h

e
 p

e
d

a
l 
o

n
 d

e
p

re
s
s
e

d
 p

o
s
it
io

n
, 
o

p
e

n
 t
h

e
 f

a
u

c
e

t,
 a

n
d

 a
d

ju
s
t

it
 t
o

 t
h

e
 d

e
s
ir

e
d

 w
a

te
r 

te
m

p
e

ra
tu

re
 a

n
d

 f
lo

w
 r

a
te

.

A
s
 l
o

n
g

 a
s
 t
h

e
 p

e
d

a
l 
is

 d
e

p
re

s
s
e

d
, 
w

a
te

r 
w

ill
 f

lo
w

 f
ro

m
 t
h

e
 f

a
u

c
e

t.

W
h

e
n

 t
h

e
 p

e
d

a
l 
is

 r
e

le
a

s
e

d
, 
th

e
 w

a
te

r 
fl
o

w
 s

to
p

s
.

4
.

F
IG

. 
5

U
s
e

 p
ro

v
id

e
d

  
#

1
0

  
s
c
re

w
s
 i
n

le
n

g
th

 1
" 

o
r 

3
/4

" 
d

e
p

e
n

d
in

g
 o

n
c
a

b
in

e
t 
th

ic
k
n

e
s
s
 t
o

 a
tt
a

c
h

p
e

d
a

l.
 (

F
IG

.5
)

3
.



6 – 4-40 pedal plate mounting screws

1 – Pedal mount

Installation Procedures

AG250-203

LIST OF PARTS ENCLOSED

The AG250-203, in combination with
AG250-002 valve, provides hands-free
faucet operation. Valve is ordered
separately. 

Please read the instructions once through before starting.

PEDAL INSTALLATION INSTRUCTIONS

-OVER-

1 –Screwdriver

AG250-002
Cold/Hot Potable Water

Mechanical Valve

1 – Top mounting plate

Pass cable from the  AG250-002 valve through the 1"
opening under the cabinet  plate and connect it to the
pedal AG250-103.

2.

FIG. 2

3
1

2

4

5

6

Unscrew the front nut (1) on the valve cable and insert
the cable (4) through the slot on the back side of support
bracket  AG250-203 pedal. The rear nut (3) remains at the
end of the thread (2). Adjust cable holder (2) for proper
pedal operation and secure its position with nuts (1) and
(3). Control cable (4) should be snug. (FIG. 2)

Verify that valve actuating cable is inside the
valve receptacle( FIG.3)

FIG. 3
Insert valve cable end T-bar (5) into the pedal
lever (6) (FIG. 2)

1 – Pedal plate

2 – #10x3/4 " length mounting screws

2 – #10x1" length mounting screws

7

Connect pedal plate to the pedal mount using 
six provided 4-40 screws (7). (FIG. 4)

3.

FIG. 4

Measure 1" from the bottom
of cabinet aligned with top
mounting plate, drill 1" hole
under the cabinet plate.
(FIG.1 )

1.

FIG. 1

1"

1" Diameter

Openings for
#10 screwsApply top mounting plate at

the edge of the cabinet and
mark position of mounting
screws.Drill two holes for #10
screws. (13/64"). (FIG.1 ) 


